
qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     rDkfb]jL df=lj lzz' sIff ;+rfng 1 150000.00

2     afnaflnsfx?sf] nflu cfjZos z}lIfs ;fdu|L vl/b 1 50000.00

200000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     rfNgfv]n lg=df=lj= lzz' sIff ;+rfng 2 140000.00

2     nfdf6f]n afn Sna ;fdu|L vl/b tyf Joj:yfkg sfo{qmd 2 10000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
vf]sgf hg df=lj / sfdw]g' df=lj=sf ljkGg ju{sf ljBfyL{sf nflu 
vfhf sfo{qmd

3 50000.00

2 kfj/ xfp; afn pBfg kfs{sf] nflu v]ns''b ;fdfuL| vl/b 3 100000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
afnaflnsfx?sf] Ifdtf ljsf; tyf cltl/Qm s[ofsnfk sfo{qmd 
;~rfng

4 150000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     ljkGg tyf blnt afnaflnsf k|f]T;fxg tyf vfhf sfo{qmd 5 35000.00

2     afn Snj hgr]tgf sfo{qmd 5 35000.00

3    k|ltof]lutfTds sfo{qmd -8fG;, r];, xflh/L hjfkm cfbL_ 5 80000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     lqe'jg p=df=lj=sf] nfuL cfw'lgs j}1flgs lzIff sfo{qmd 6 75000.00

2     sf]7]k6f]nsf] ;fd'bflos ejgdf afnaflnsfsf] nflu sIff ;+rfng 6 75000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
afnaflnsfx?nfO{ ;fdflhs Jojxf/ tyf pb\3f]if0f tflnd ;fd'bflos 
;"rgf s]Gb| lgdf{0f -8f]nvs{ ;fd'bflos k':tsfno_

7 75000.00

2     afnaflnsfx?sf] nflu lqms]6 k|lzIf0f sfo{qmd -kmlk{ª lqms]6 Sna_ 7 75000.00

cg';"rL 2 s

hDdf /sd

hDdf /sd

hDdf /sd

hDdf /sd

blIf)fsfnL gu/kflnsfsf] j*f:t/Lo of]hgfaf^ k|fKt eO{ cfPsf of]hgfx?sf]

ljj/)f tyf ljlgof]lht /sd

nlIft ju{ cGtu{t afnaflnsf tkm{sf] of]hgf tyf sfo{qmd

hDdf /sd

hDdf /sd



150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     ;'of]{bo afn ljsf; s]Gb|df vfhf tyf v]nf}gf vl/b 8 25000.00

2     sf]t3/ afn pBfg dd{t ;Def/ 8 25000.00

3    ul/a tyf h]x]Gbf/ ljBfyL{x?sf nflu cfjZos z}lIfs ;fdu|L vl/b 8 25000.00

4     j8f:t/sf v]ns'b sfo{qmdx?df ;xeflutfsf] nflu  8 50000.00

5     nIdL gf/fo0f dlGb/ k5f8L 6]a'n 6]lg; sf]6{ lgdf{0f 8 25000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     j8f:t/sf afn Snax?nfO{ v]ns'b ;fdu|L vl/b  9 50000.00

2     ljkGg h]x]Gbf/ afnaflnsfx?nfO{ kf]zfs tyf kf]li6s cfxf/ ljt/0f 9 75000.00

3    af3 e}/a k|f=lj=sf ljBfyL{x?nfO{ vfhf sfo{qmd 9 25000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     dgsfdgf k|f=lj=sf ljBfyL{x?nfO{ kf]zfs tyf :s'n Jofu ljt/0f    10 40000.00

2     kmlk{ª p=df=lj=sf lzz' sIffsf ljBfyL{x?nfO{ vfhf sfo{qmd  10 40000.00

3    km'Nrf]s tyf l8s' axfnsf] afn Snax?nfO{ v]ns'b ;fdu|L ljt/0f  10 30000.00

4     l;l4 u0f]z o'jf Sna, yNs'6f]nsf] nflu v]ns'b ;fdu|L ljt/0f   10 20000.00

5     sdn kf]v/L o'jf SnanfO{ v]ns'b ;fdu|L ljt/0f 10 20000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    

sfnLb]jL lg=df=lj=sf afnaflnsfx?nfO{ vfhf kf]zfs / ljBfno 
guPsf afnaflnsfx?nfO{ ljBfno ;Dd Nofpg] sfo{qmd / z}lIfs 
;fdu|L ljt/0f 

11 75000.00

2    
O{Gb|fo0fL lg=df=lj=sf afnaflnsfx?sf nflu vfhf kf]zfs / z}lIfs 
;fdu|L ljt/0f  

11 75000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
;]ltb]jL df=lj=df lzz' :ofxf/ s]Gb| :yfkgf u/L afnaflnsfx?sf] z}lIfs 
;fdu|L, v]ns'b ;fdu|L / kf}li6s cfxf/ pknAw u/fpg] 

12 125000.00

2    
blIf0f dxfFsfnL k|f=lj=df /x]sf afnaflnsfx?sf nflu 5fqa[lQ / z}lIfs 
;fdu|L ljt/0f 

12 25000.00

150000.00

hDdf /sd

hDdf /sd

hDdf /sd

hDdf /sd

hDdf /sd

hDdf /sd



qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     £ofDkfb]jL lg=df=lj= ef}lts k"jf{wf/ 13 150000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot
1     lszf]/L lzIff 14 20000.00

2     afn Sna v]ns'b ;fdu|L ljt/0f 14 25000.00

3    lzjzlQm k|f=lj=sf lzz' sIffsf ljBfyL{x?nfO{ kf}li6s cfxf/ ljt/0f 14 20000.00

4     afn lzz' :ofxf/ s]Gb| 14 20000.00

5     >Ls[i0f df=lj= lzz' :ofxf/ s]Gb| 14 40000.00

6     af3 kfO{n] v]ns'b d}bfg lgdf{0f 14 25000.00

150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    afnaflnsf kf}li6s cfxf/ ljt/0f 15 25000.00

2 kGrsGof df=lj ef}lts k"jf{wf/ 15 125000.00

150000.00

2300000.00blIf0fsfnL gu/kflnsfsf] nlIft tkm{sf] afnaflnsfsf] nfuL hDdf /sd 

hDdf /sd

hDdf /sd

hDdf /sd


